SBC

SBI#Z(ROHS)

SBI - FL/FLS

JOvIITSVIBICYYITNERIFII1T.
ETEBSHSBEINEIRETT .

SBI - FLL

SBI-FLEE—ERTERERLLUCERIEY 1.
LEFEESHSERGHEEETT

- — 0 ———

H4X 15.20.25,30,35.45,55,65%

|<HiEsRlE P49~50

SBI - SL

JOvo DR U ANU—h 51T

SBI - SLL

SBI-SLLERE. D E—CERPRVLERES 1T

&t 6]

B4 X 15,20,25,30,35.45,55,65%

|<HiERIE P51~52

SBI - HL/HLS

SBI-SLERTEY FHE—THISTZEILEY 1T

SBI - HLL

SBI-HLEF T BHEUTERIRVEFRESY 17

H4oZ 15.25,30.35.45,55%

|<ht&lE P53~54

41



U=7L=l

SBI - CL/CLS

JOvoDEERL Ue AN —h 51 T i — | — B @ _________ © 1

SBI i CLL Y4X 20.25%

SBI-CLEE S BIIEA—CEZRMRVLERIEY 1T

~iEFR(E P55~56

SBI - FV 5

TOVIDLEEGL U EAR—ZAIATTT . - — — @' —-
ETFEESHSERGHTEETT .

)

HZ 15,20,.25%

~HEKIE P57~58

SBI - SV

SBI-CLER—HIRCTERER/LULEAR—AY1T T, P
@) @& ﬁ & &
& & Y &
@
B4 X15,20,25%

[SE=%lE P59~60

42



SBC

SBI n&iE

SBI 25 FL—N-MF-ZZ- 2-K1-FR-1000-B — N —FR— 2 (RC)

(234
&S5
.7D‘” *M’Z'\ J0vo ORMEUNIE
LEFL  REWBHEL
R:{EB&0O—LAvE
[ FR: Bio&o0—LXvF
JOvo & -
L=ILEZTiE ]
JU=R ZwTILiEH
£8KL  FEJU—R ZvF = Lo
N: H@mdJ—R Zv 7 el
B: vty
[ mzeacEEIYFHEL
MF BRIV T =
N : MR
H: k&
P BEEMR
LA
T I/RY—IU + B RY—)b (15
DD: TVRY—ILX2 + YARY—IL (T Fvay) L—ILDOFRENIE
Z2Z: TIRY=b + YK=L 4+ RIL—)— (A TF3a) ESHL | REUBEL
KIKK: TUR=UX2 + HARY=) + Z90—=I{= (FT32) R : L—=IUERZO—LXv+
L FR: 3-oZEo0—LXAy®
[ . WS
| L-ibtoonvos P
ERALFHHHRIE 2
=¥y Tt ]




D=7L—=l

J0Ovo0D;FEXH
SBIZOL—N—MF—Q—&
FURE | BEsh = et

JOvoDIERE BHEESCE
—w I AIE FEELS
(E%Hb:EE:w?» K1 : E#FE
N fIE=v7IL K2 : B&BE
K3: EFE

L=ILbD&HiEX
SBI20 — 1000L — B
FEURIE = L—)L &8

SETL  EE
B:&vIyAT



49

SBC

SBI - FL#¥ / SBI - FLL¥

|'|(I
[ |
Myo|I
bole
\
\
7
B : mm
#AIT~E JOvo~E
il E H W L E HEH_U-W L1 | T£1| K | T1 | N1 | T2 [ N2 | Q1 |%Q2
B J | M S

SBIGFLS | 24 | 47 |568| 3 | 38 | 30 | M5 | M4 |382| 9 21 | 45| 55| 38| 3.8 |Mx07| 3.5
SBI15FL 24 | 47 |638| 3 38 | 30 M5 | M4 [452| 9 2] 45 | 55 | 3.8 | 3.8 |Mx07|®3.5
SBI1SFLL | 24 | 47 |794 | 3 | 38 | 30 M5 | M4 |60.8( 9 21 | 45| 55| 3.8 | 3.8 |M4x07 | 3.5
SBI20FLS| 30 | 63 | 738 46 | 63 | 40 M6 | M5 518 12 (254 6 | 12 | 58 | 5 |[M6X075 ®3.5
SBI20FL | 30 | 63 | 788 46 | 53 | 40 M6 | M5 568 12 (254 6 | 12 | 58 | 5 |[M6X075 ®3.5
SBI20FLL | 30 | 63 |964 46 | 53 | 40 M6 | M5 (744 | 12 (254 6 | 12 | 58 | 5 |[MEX075»3.5
SBI25FLS| 36 | 70 | 83 | 55| 57 | 45 | M8 | M6 | 61 | 13 |305| 6 | 12 5 5 |MBX075 ©3.5
SBI25FL | 36 | 70 | 92 | 55| 57 | 45 | M8 | M6 | 70 | 14 (305 6 | 12 5 5 |MBX075 ©3.5
SBI25FLL| 36 | 70 | 108 | 55| 57 | 45 | M8 | M6 | 86 | 14 (305 6 | 12 5 5 |MBX075 ©3.5
SBIBOFLS| 42 | 90 | 968 7 | 72 | 52 |[M10| M8 |688 |155| 35 | 85| 12 | 7.8 | 5 |MGx0.75| 5.7
SBI3OFL | 42 | 90 (1076, 7 | 72 | 52 M10| M8 (796 155 35 | 85| 12 | 7.8 | 5 ([M6x075| 5.7
SBI3OFLL | 42 | 90 1316 7 | 72 | 52 |M10| M8 [1036/155| 35 | 85| 12 | 7.8 | 5 |M6x075| 5.7
SBI35FLS| 48 | 100 (1082 75| 82 | 62 |M10| M8 |782| 15 (405 8 | 12 8 6 |M6X0T5 ©5.7
SBI3SFL | 48 [ 100 (1246 7.5 | 82 | 62 |{M10| M8 (946 | 156 (4054 8 | 12 8 6 |MGX075 ©5.7
SBI35FLL | 48 | 100 (1526 7.5 | 82 | 62 |M10| M8 [1226| 15 (405 8 | 12 8 6 |MBX075 ©5.7
SBI45FL | 60 120|142 9 |100| 80 |M12 /M10|108 | 18 | 51 | 10.5/13.5| 9.3 | 6.5 |PT1/8| ®5.7
SBI45FLL| 60 | 120|174 9 | 100| 80 M12 M10 140 | 18 | 51 | 10.5/135| 9.3 | 6.5 [PT1/8| ®5.7
SBISSFL | 70 | 140 (1724 12 | 116 | 95 M14 M12|/131 | 22 | 68 | 12 | 13 | 12 | 8 |[PT1/8|48.7
SBISS5FLL | 70 | 140 |211.8] 12 | 116 | 95 |M14|M12170.4| 22 58 12 | 13 12 8 |PT1/8 ¢8.7
SBIGSFL | 90 | 170 219.8i 19 | 142 | 110 M16 | M14[170.4| 26 | 71 14 | 13 | 14 | 10 |PT1/8 8.7
SBIGSFLL | 90 | 170 [2722] 19 | 142 | 110 M16 | M14222.8| 26 | 71 14 | 13 | 14 | 10 |PT1/8|®8.7

% S FHSBIRBEEDRIL A XTT,

¥ Q2 flE=vIIILERSRFUIRTT .



D=7L—=I

~ Mpo
e TN
N1 L
L1 N2 4-Q2%
PR |
o | |
\ | el i i [efl—(T2
H } 1 1)
*HUJ
- G-- F -
LO
{7 :mm
L=tk BATREE  BOFST—XUh BE
wi |l wa |l mr | e RIVNERIFTR o [BAESBER ﬁﬁ%_’ [KN-m] Jv0| L—Ib
d D h LO |C(KN)|Co(KN) Mro | Mpo | Myo | [kgl |[Kg/m]
15 16 13 60 4.5 Tk 5.5 20 [3,000| 123|183 | 013 | 0.08 | 0.08 | 0.20 1]
15 16 138 60 4.5 Tiis] S 20 [3,000| 141 | 241 | 016 | 017 | 017 | 0.24 1.3
15 16 13 60 4.5 TS 5.5 20 |4,000| 171 | 31.7 | 0.21 | 0.29 | 0,29 | 0.30 1.3
20 215 | 165 | 60 6 95 8.5 20 (4000|202 | 291 029|018 | 0.18 | 0.44 | 2.2
20 215 | 165 | 60 6 95 8.5 20 (4,000 222|382 036 | 033|033 046 | 22
20 215 165 | 60 6 9.5 8.5 20 (4000|279 | 50 047 056 | 0.56 | 060 | 22
23 235 20 60 7 11 9 20 (4000|289 | 428 | 049 | 0.32 | 0.32 | 0.66 3
23 23.5 20 60 7 1] 9 20 (4000| 315|521 | 056 | 056 | 0.56 | 0.75 3
23 235 20 60 7 11 9 20 [4,000| 36.7 | 64.4 | 069 | 0.84 | 0.84 | 0.86 3
28 31 23 80 9 14 12 20 |4,000| 392 | 577 080 | 049 | 0.49 | 1.08  4.25
28 31 23 80 9 14 12 20 [4,000| 428 | 654 085 | 077 | 0.77 | 1.25 | 425
28 31 23 80 9 14 12 20 (4,000 51.3 | 84.7 | 110| 1.3 1.3 | 1.65 | 425
34 33 26 80 9 14 12 20 [(4,000| 520|733 | 124|071 | 0.71 | 1.53 | 6.02
34 33 26 80 9 14 12 20 (4000|595 (891 | 142 | 128 | 1.28 | 1.92 | 6.02
34 a3 26 80 9 14 12 20 (4000| 713 (1153|183 | 212 | 212 | 243 | 6.02
45 37.5 32 105 14 20 17 | 225 |4,000| 792 |1163| 248 | 1.9 19 | 325 | 9.77
45 375 32 105 14 20 17 | 225 |14,000| 94.8 |[1505| 321 | 314 | 3.14 | 440 | 9.77
53 43.5 38 120 16 23 20 30 (4,000|127.3(181.8| 481 | 297 | 297 | 5.08 [13.72
53 43.5 38 120 16 23 20 30 (4,000(147.9|2245| 595 | 478 | 4.78 | 6.58 | 13.72
63 53.5 53 150 18 26 22 35 |4,000(/188.3|261.7 8.24 | 5,57 | 5,57 |10.17 | 23.17
63 53.5 53 150 18 26 22 35 |4,000(232.5|354.1 11.15] 9.86 | 9.86 |13.29 23.17




SBC

SBI - SL¥ / SBI - SLL#¥

Myo H
Lo
\
\
vz
EB{7 : mm
HAIIE FENY T
== H w| L|E iegl L1 |T+1| K | T1 | N1 | T2 | N2 | Q1 |%Q2
B| J| M]|DP

SBI15SLS| 28 | 34 |568 26 | 26 | M4 | 5 |382| 10 | 25 | 85| 55| 7.8 | 3.8 [Mx07 ¢35
SBI5SL | 28 | 34 |638| 3 | 26 | 26 | M4 | 5 (452 10 | 25 | 85| 55| 7.8 | 3.8 |Wx07|03.5
SBIGSLL| 28 | 34 [794| 3 | 26 | 34 | M4 | 5 |608| 10 | 25 | 85| 55 | 7.8 | 3.8 |Mx07|035
SBI20SLS| 30 | 44 |738| 46| 32 | 36 | M5 | 5 |518| 10 |254| 6 | 12 | 58| 5 |M075[035
SBI20SL | 30 | 44 |788| 46| 32 | 36 | M5 | 5 |56.8| 10 |254| 6 | 12 | 58| 5 |M075|$3.5
SBI20SLL| 30 | 44 |964| 46| 32 | 50 | M5 | 5 |74.4| 10 |254| 6 | 12 | 58| 5 |w07s|035
SBI25SLS| 40 | 48 | 83 | 55| 35 | 35 | M6 | 8 | 61 | 16 |345| 10 | 12| 9 | 5 |eX075(935
SBI25SL | 40 | 48 | 92 | 55| 35|35 | M6 | 8 | 70 | 16 |345| 10| 12 | 9 | 5 |wxors 935
SBI25SLL| 40 | 48 | 108 | 55| 35| 50 | M6 | 8 | 86 | 16 (345 10 | 12 | 9 | 5 |M6x075 ®3.5
SBI30SLS| 45 | 60 |968| 7 | 40 | 40 | M8 | 10 (688 12 | 38 | 11.5| 12 |10.8| 5 |M6x075|®5.7
SBI30SL | 45 | 60 [1076| 7 | 40 | 40 | M8 | 10 |796| 12 | 38 | 11.5] 12 | 108 5 |M075|95.7
SBI30SLL| 45 | 60 [1316| 7 | 40 | 60 | M8 | 10 (1036 12 | 38 | 11.5| 12 | 10.8| 5 |Mx075|®5.7
SBI35SLS| 55 | 70 [1082| 8 | 50 | 50 | M8 | 10 |782| 15 | 47 | 15| 12 | 15 | & |vex0ms|05.7
SBI3SSL | 55 | 70 |1246| 7.5 | 50 | 50 | M8 | 10 |946| 15 |47.5) 15 | 12| 15 | 6 V6075|057
SBI35SLL| 56 | 70 [1526| 7.5 | 50 | 72 | M8 | 10 (1226 15 |47.6) 156 | 12 | 15 | 6 |Mx075[®6.7
SBl45SL | 70 | 86 | 142 | 9 | 60 | 60 |M10| 13 |108| 17 | 61 | 20.5/135|19.3| 6.5 |PT1/8|95.7
SBI45SLL| 70 | 86 | 174 | 9 | 60 | 80 |M10| 13 | 140 | 17 | 61 | 20.5/135|19.3| 6.5 |PT1/8|95.7
SBISSSL | 80 | 100 [1724] 12 | 75 | 75 |M12| 18 |131| 21 | 68 | 22| 13 | 22 | 8 |pTi/8|087
SBIS5SLL| 80 |100 [211.8| 12 | 75 | 95 |M12| 18 [170.4[ 21 | 68 | 22 | 13 | 22 | 8 |PT1/8|087
SBIB5SL | 90 | 126 [2198| 19 | 76 | 70 |M16| 16 [170.4 26 | 71 | 14 | 13 | 14 | 10 |PT1/8|®8.7
SBIG5SLL| 90 | 126 [2722| 19 | 76 | 120 |M16| 16 2228 26 | 71 | 14 | 13 | 14 | 10 |PT1/8|#8.7

# Q2 A=y IR+ U RTY,



D=7L—=l

Moo
e R
(N1 L
L1 N2  4-Q2 3%
J
o | |
l ‘ " fle] U U | T2
g M _H ; = |
! r i } i 5F
L
G F
LO
EB{T7 © mm
L—IU~ti& BAREREE | TS TE— XU gE
Wi e . NI: VN a RARS ENERE BRES [KN-m] JwOs|L—)b
d D h LO [C(KN)|Co(KN) Mro | Mpo | Myo | [kg] |[Kg/m]
15 | 95| 13 | 60 | 45| 75 | 55 | 20 (3,000| 12.3| 183 | 0.13 | 0.08 | 0.08 | 0.19 | 1.3
15 | 95| 13 | 60 | 45 | 75 | 55 | 20 (3,000| 141 | 24.1 [ 016 | 0.17 | 0.17 | 023 | 1.3
15 | 95| 13 | 60 | 45 | 75 | 65 | 20 (4000|171 | 31.7 (021 | 029 | 029 | 0.31 | 1.3
20 | 12 | 165 60 6 95 | 85 | 20 (4000|202 | 291 | 029 |0.18 | 0.18 | 0.33 | 22
20 | 12 | 165 60 6 95 | 85 | 20 (4000|222 |382 | 036 |033|033|036| 22
20 | 12 | 165 60 6 95 | 85 | 20 |4,000| 279 | 50 | 047 | 056 | 0.56 | 0.47 | 2.2
23 |125| 20 | 60 7 1 9 20 [4,000| 289 | 42.8 | 0.49 | 032 | 0.32 | 058 | 3
23 | 125| 20 | 60 " 1 9 20 (4,000( 315|521 | 056|056 | 056 | 068 | 3
23 | 125| 20 | 60 i 1 9 20 (4,000| 36.7 | 64.4 | 069 | 0.84 | 0.84 | 082 | 3
28 | 16 | 23 | 80 9 14 | 12 | 20 |4,000| 392 | 57.7 | 0.80 | 049 | 0.49 | 0.92 | 4.25
28 | 16 | 23 | 80 9 14 | 12 | 20 |4,000| 428 | 65.4 | 085|077 | 0.77 | 1.06 | 4.25
28 | 16 | 23 | 80 9 14 | 12 | 20 |4,000| 51.3 (847 |110| 1.3 | 1.3 | 1.83 | 425
34 | 18 | 26 | 80 9 14 | 12 | 20 |4,000| 520 | 733 | 1.24 | 0.71 | 0.71 | 1.48 | 6.02
34 | 18 | 26 | 80 9 14 | 12 | 20 |4,000| 595 [ 89.1 | 1.42 | 128 | 1.28 | 2.34 | 6.02
34 | 18 | 26 | 80 9 14 | 12 | 20 [4,000| 71.3 [1153| 183 | 212 | 2.12 | 3.30 | 6.02
45 | 205 | 32 | 105 | 14 | 20 | 17 | 225 (4,000| 79.2 |116.3| 248 | 1.9 | 1.9 | 423 | 9.77
45 | 205| 32 | 105 | 14 | 20 | 17 | 225 |4,000| 94.8 |150.5| 3.21 | 3.14 | 3.14 | 469 | 9.77
53 |235| 38 | 120 | 16 | 23 | 20 | 30 |4,000|127.3(181.8| 4.81 | 297 | 297 | 5.04 |13.72
53 |235| 38 [ 120 | 16 | 23 | 20 | 30 |4,000|147.9|2245| 595 | 478 | 478 | 582 |13.72
63 |315| 53 |150 | 18 | 26 | 22 | 35 [4,000(188.3|261.7| 824 | 557 | 557 | 9.1 [23.17
63 | 315| 53 |150 | 18 | 26 | 22 | 35 [4,000(2325|354.1(11.15| 9.86 | 9.86 |11.98(23.17

52



SBC

SBI - HL# / SBI - HLL#

e O
-~ T
A 4-MxDP W _2:Q1
A \.\.\ . B _ ,r";
/ L’”
|'l|l \ .
I
e oK e ] ©
\
E
® W2l
|
BT mm
#RITTE JOvo~E
BE o lw| | e BT L1 |T£1| K | T1 [ N1 | T2 | N2 | Q1 |%Q2
B| J | M]|DP _ _
SBI1SHLS | 24 |34 |568| 3 | 26 | 26 | M4 | 4 (382 6 | 21 | 45 | 55|38 | 3.8 |Mx07|®35
SBSHL | 24 |34 (638 3 | 26 | 26 | M4 | 4 (452 6 | 21 | 45| 55| 38| 3.8 |Mx07|935
SBISHLL| 24 (34 |794| 3 | 26 | 34 | M4 | 4 (608 6 | 21 | 45| 55| 38| 3.8 |Mx07|035
SBI25HLS| 36 |48 |83 | 55| 35 | 35 | M6 | 6 | 61 | 12 |305| 6 | 12 | 5 | 55 |Mx07593.5
SBI25HL | 36 |48 | 92 | 55| 35|35 | M6 | 6 | 70 | 12 |305| 6 | 12 | 5 | 55 |Mx075|93.5
SBI25HLL| 36 |48 |108| 55| 35 | 50 M6 6 86 12 |305 6 12 5 5.5 |M6x0.75| 3.5
SBI3OHLS| 42 |60 |968| 7 | 40 | 40 | M8 | 8 |688| 12 | 35 | 85| 12 | 7.8 | 5 [M6x075 05.7
SBI3OHL | 42 |60 (1076 7 | 40 | 40 | M8 | 8 (796 12 | 35 |85 | 12 | 7.8 | 5 |Mx075/95.7
SBI3OHLL| 42 (60 (1316 7 | 40 | 60 M8 | 8 (1036 12 | 35 | 85| 12 | 7.8 | 5 [6X075®5.7
SBI35HLS| 48 |70 [1082| 8 | 50 | 50 M8 | 8 |782| 15 (405 8 | 12 | 8 | 6 VX075 05.7
SBI3SHL | 48 |70 (1246 7.5| 50 | 50 M8 | 8 |94.6| 15 (405 8 | 12 | 8 | 6 VX075 ©5.7
SBI3SHLL| 48 |70 [1526| 7.5| 50 | 72 ' M8 | 8 [1226/ 15 |405 8 | 12 | 8 | 6 VX075 ®5.7
SBI45HL | 60 |86 |142| 9 | 60 | 60 |M10| 10 | 108 | 17 | 51 |10.5(135| 9.3 | 6.5 |PT1/8|95.7
SBI45HLL| 60 |86 |174| 9 | 60 | 80 |M10| 10 | 140 | 17 | 51 |10.5|135| 9.3 | 6.5 |PT1/8|95.7
SBIS5HL | 70 [100 [1724 12 | 75 | 75 |M12| 12 (131 21 | 58 | 12 | 13 | 12 | 8 |PT1/8|98.7
SBISSHLL| 70 |100 [211.8] 12 | 75 | 95 Mi12| 12 1704/ 21 | 58 | 12 | 13 | 12 | 8 |PT1/8/¢8.7

% Q2 AE=—vZILESE+UIRT Y,



D=7L—=l

_Mpo
//—— _\-\-EMR‘“
v ™
N1 L
L1 N2 4-Q23
. J
D | !
’—‘ T i S [:[ [E P IIT2
| T =
H1 Y 3
T ! H I
AL
G F
LO
BA{TT  mm
L—ILTiE BEATEREE | BIFET—AVS =
wi | w2 | Hi1 e MIVRER{IR G [BRREHERS ERTEAS | [KN-m] Jvoo| L—Ib
d D h LO |C(KN)|Co(KN) Mro | Mpo | Myo | [kg] [Kg/m]
15 95 13 60 45 7.5 | &5 20 (3,000 12.3| 183 0.13| 0.08 | 0.08 | 0.15 1.3
15 95 13 60 4.5 TS 5.5 20 (3,000 14.1 | 241 | 016 | 0.17 | 0.17 | 0.18 L)
15 9.5 13 60 4.5 75 b5 20 |3,000| 171 | 31,7 | 021 | 029 | 029 | 024 | 1.3
23 125 20 60 7 11 9 20 [(4,000| 289 | 42.8 | 0.49 | 0.32 | 0.32 | 0.47 3
23 125 20 60 7 11 9 20 |4,000| 31.5 | 521 | 056 | 0.56 | 0.56 | 0.57 3
23 12.5 20 60 74 11 9 20 [(4,000| 36.7 | 64.4 | 069 | 0.84 | 0.84 | 0.70 3
28 16 23 80 9 14 12 20 |4,000| 39.2 | 57.7 1 080 049 | 0.49 | 0.80 | 425
28 16 23 80 9 14 12 20 |4,000| 428 | 654 | 085 | 077 | 0.77 | 1.48 | 425
28 16 23 80 9 14 12 20 |4,000| 51.3 | 84.7 | 1.1 18 1.3 | 1.58 | 4.25
34 18 26 80 9 14 12 20 |4000| 520|733 124 | 071 | 0.71] 1.35 | 6.02
34 18 26 80 9 14 12 20 |4,000| 595|891 142 128|128 | 1.47  6.02
34 18 26 80 9 14 12 20 |4,000| 71.3 |[11563 1.83 | 212 | 212 | 204 K 6.02
45 | 20.5 32 105 14 20 17 | 225 |4,000( 792 |116.3| 248 | 1.9 1.9 28 | 9.77
45 20.5 32 105 14 20 17 | 225 [4,000| 948 |150.5( 3.21 | 3.14 | 3.14 | 3.29 | 9.77
53 23.5 38 120 16 23 20 30 (4,000/127.3/181.8 4.81 | 297 | 297 | 442 [13.72
53 23.5 38 120 16 23 20 30 [4000(1479/ 2245 595 | 478 | 478 | 5.82 | 13.72




SBC

SBI - CL# / SBI - CLL#¥

— T
S 4-MxDP . W 2-1
Y
| \ —B—/
’1 | \\ /,-"
[ FITe T (€ @Y
Mol 1Y T leqine
| & = i
alllh
\
E
, w2 W1
t@‘ -
|
==L iyAe ]
HII~E JOvo~E
BE ERfsHFoR
H W L E [T == 1 T1 N1 T2 | N2 | Q1 [%Q2
B J M DP
SBI20CLS | 28 | 42 |655| 46 | 32 | 32 | M5 | 5 |(432| 78 (234 48| 12 | 43| 5 [Mx075|93.5
SBI20CL | 28 | 44 |788| 46| 32 | 32 | M5 | 5 |568| 78 |(234| 48| 12 | 38| 5 ([M6x075 @3.5
SBI20CLL| 28 | 44 (964| 46 | 32 | 50 [ M5 | & (744 78 (234 48| 12 | 3.8 | 5 ([M6x075 ¢3.5
SBI25CL | 33 48 | 92 65| 35| 35 | M6 | 6 70 9 |275 54| 12 | 54 | 5 [Mex075 3.5
SBI25CLL| 33 48 | 108 55| 35| 50 | M6 6 | 86 9 |275 54| 12 | 54 5 [M6x0.75 3.5

# Q2 A=YV R+ U RTY,



U=7L=l

_Mpo
vl e
N1 2
- I | el N2 4-Q23%
J
Dy ‘ 1
”‘_‘ T o O U T2
S E— =
! | I
JL
G F
LO
E{T : mm
L=tk BEARTEREE  BIFET—AVS =
RJURERAETT BARE BIES BT [KN-m] JwOs| L=
W1 w2 HA1 E G
d D h LO |C(KN)/Co(KN) Mro | Mpo | Myo | [kg] [Kg/m]
20 11 16.5 | 60 6 95 8.5 20 (4000|191 | 27.0 | 027 | 0.15 | 0.15 | 0.23 | 2.2
20 12 | 165 | 60 6 g.&h|s B.5 20 (4,000 222 | 38.2 (036|033 | 033|032 | 22
20 12 165 | 60 6 9.5 8.5 20 |4000| 279 | 50 | 047 | 056 | 0.56 | 0.41 2.2
23 125 20 60 7 11 9 20 |4,000| 31.5 | 521 056 | 056 | 0.56 | 0.49 3
23 125 | 20 60 T 11 9 20 (4,000 36.7 | 64.4 069 | 0.84 | 0.84 | 0.57 3




SBC

SBI - FViZ

I|
Myo| |e o

e

BT : mm

HHII~E J0Ovo~E
BE o W 0 : ER{ TR
B | M | S
SBISFV | 24 | 47 [399] 3 | 38| M5 | M4 |213] 9 | 21 | 45| 55| 38| 3.8 |wx07| 035
SBI20FV | 28 | 63 (491 | 46 | 53 | M6 | M5 |27.1 12 | 234 48| 12 | 38| 5 |6X0T5 035
SBI25FV | 33 | 70 |52.6 55 | 57 | M8 M6 306 14 |275 54| 12 | 54 | 5 |MEX0J5 3.5

# 8 THOET BBEDMNIL YA XTI,
* Q2 fiE=v7ILEIAFYIRTT,

I I == TN I T1 N1 T2 | N2 | Q1 |%Q2




U=7L=l

‘Mpo.
/’,—"’ G
Py \
_(N1) L o
L1 N2 4-Q2:x
D,
«‘—;‘ LI 1 R T = T2
ol " LT == | V| IBE
¥ ]
lLa ‘
G F
= LO
B3(7 : mm
L—)bti& BEATREE  BRFST—XAVL &
RILNER{FIR BARS BT BTN [KN-m] JvOs| =)L
W1 W2 HA1 F G
d D ‘ h LO |C(KN)/Co(KN) Mro | Mpo | Myo | [kg] [Kg/m]
15 16 13 60 45 7.5 55 20 [3,000| 58 | 128 0.04 | 0.03 | 0.03 | 01 1.3
20 | 215 165 60 6 9.5‘ 8.5 20 (4,000 94 | 20.2 012|010 | 010 | 0.23 | 2.2
23 23.5 20 60 7 11 . 9 20 (4,000 124 | 261 019 | 017 | 017 | 0.32 3




59

SBC

SBI - SV

Mro
] f""-_ - _-H‘"\.
© 2-MxDP w Q1
f A2
©
.f N )
| T "
My0| @ & T_— j \,j’“‘ u
H K © T‘—En ©
v e
|
E
& .".N?. WA
BT mm
HHII~E J0Ovo~E
BIE EfFFIT
H|W| L|E L1 [T=1| K | T1 | N1 | T2 | N2 | Q1 |%Q2
B | ™M |oDp
SBI15SV | 24 | 34 (399 3 | 26 | Ma | 5 |[213] 6 | 21 | 45| 55| 38| 3.8 |wx07| 035
SBI20SV | 28 | 44 [49.1| 46 | 32 | M5 | 5 |27.1| 78 |234| 48 12 | 38| 5 |MEX0T5 035
SBI25SV | 33 | 48 |526 55| 35 | M6 6 (306 9 |275 54| 12 | 54| 5 |MEX0T5 3.5

% Q2 flEm=v7ILRFTA+YNTY,



U=7L=l

__Mpo
2 e
(N1 L
L1 N2 4-Q2:x

G F
LO
E5{i7 © mm
LU—ILTiE BAEREE BUFStE—XUb =
o |k - RJURERTR 5 BARE BIENS BT [KN-m] Jway| L—Ib
d D h LO |C(KN)/Co(KN) Mro | Mpo | Myo | [kg] [[Kg/m]

9.5 13 60 45 | 75 55 | 20 |3000f 58 | 128 | 004 | 003 | 0.03 | 0.10 1.3
12 | 165 | 60 6 95 | 85| 20 |4000 94 | 202|012 | 010 | 0.10 | 017 | 22
125 | 20 60 7 11 9 20 |4000| 124 261 019  0.17 | 0.17 | 0.24 3




